Triangular Factors of the Inverse of Vandermonde Matrices

Shui-Hung Hou and Edwin Hou *

Abstract— This paper is concerned with the decomposition of the inverses of Vandermonde matrices as a product of one lower and one upper triangular matrices. The algorithm proposed here is suitable for both hand and machine computation.

Keywords: Vandermonde matrix, triangular decomposition, partial fractions

1 Introduction

Vandermonde matrices arise in many applications such as polynomial interpolation [1], digital signal processing [2], and control theory [3].

For a set of *n* distinct numbers μ_1, \ldots, μ_n , the $n \times n$ matrix

$$\mathbf{V}(\mu_1, \dots, \mu_n) := \begin{bmatrix} 1 & 1 & \cdots & 1 \\ \mu_1 & \mu_2 & \cdots & \mu_n \\ \vdots & \vdots & & \vdots \\ \mu_1^{n-1} & \mu_2^{n-1} & \cdots & \mu_n^{n-1} \end{bmatrix}$$

is called a Vandermonde matrix, and its determinant is given by the formula

$$\det \mathbf{V}(\mu_1, \dots, \mu_n) = \prod_{1 \le i < j \le n} (\mu_i - \mu_j)$$

(see [4]). The μ_i 's being distinct, it follows that $\mathbf{V}(\mu_1, \ldots, \mu_n)$ is invertible.

As far as the inverse of Vandermonde matrix $\mathbf{V}(\mu_1, \ldots, \mu_n)$ is concerned, a number of explicit formulas and computational schemes for the entries of the inverse have been given in [4], [5] and [6]. Recently, a recursive algorithm for inverting Vandermonde matrix as well as its confluent type has also been given in [7].

In this note we present a decomposition formula expressing the inverse $\mathbf{V}^{-1}(\mu_1, \ldots, \mu_n)$ as a product of two triangular matrices whose elements are easily computed by means of recursive algorithms.

2 Triangular decomposition

Consider the polynomials:

$$\psi_1(s) := 1,$$

$$\psi_j(s) := (s - \mu_{j-1}) \psi_{j-1}(s)$$

$$= \prod_{k=1}^{j-1} (s - \mu_k), \qquad j = 2, \dots, n.$$

Let **L** be the $n \times n$ matrix whose rows are associated with the coefficients of the polynomials ψ_1, \ldots, ψ_n . Notationally,

$$\mathbf{L}\begin{bmatrix}1\\s\\\vdots\\s^{n-1}\end{bmatrix} = \begin{bmatrix}\psi_1(s)\\\psi_2(s)\\\vdots\\\psi_n(s)\end{bmatrix}.$$

It is clear from the construction of the polynomials ψ_1, \ldots, ψ_n that the rows of **L** can be recursively computed (see Appendix), and that **L** is lower triangular with 1's on the main diagonal since the leading coefficient of each of the polynomials ψ_1, \ldots, ψ_n is 1.

Then the inverse $\mathbf{V}^{-1}(\mu_1, \ldots, \mu_n)$ factors into two $n \times n$ matrices as

$$\mathbf{V}^{-1}(\mu_1,\ldots,\mu_n)=\mathbf{H}\mathbf{L}.$$

The $n \times n$ matrix **H** appearing in this decomposition turns out to be upper triangular and is characterized by the theorem below (see [8]).

Theorem 1 The $n \times n$ matrix

$$\mathbf{H} = \begin{bmatrix} \mathbf{h}_1 & \mathbf{h}_2 & \cdots & \mathbf{h}_n \end{bmatrix}$$

is upper triangular, and its column vectors $\mathbf{h}_1, \ldots, \mathbf{h}_n$ can be recursively computed by the following scheme: Let

$$\mathbf{d}(s) := \begin{bmatrix} \mu_1 - s & \mu_2 - s & \cdots & \mu_n - s \end{bmatrix}^T$$

Then

$$\mathbf{h}_{i-1} := \mathbf{h}_i \cdot \ast \mathbf{d}(\mu_i), \qquad i = n, n-1, \dots, 2$$

ending at

$$\mathbf{h}_1 = \begin{bmatrix} 1, & 0 & \cdots & 0 \end{bmatrix}^T.$$

^{*}Department of Applied Mathematics, The Hong Kong Polytechnic University, Hong Kong, China. Department of Electrical and Computer Engineering, New Jersey Institute of Technology, Newark, USA. Email: mahoush@polyu.edu.hk, hou@njit.edu

The initial vector

$$\mathbf{h}_n := \begin{bmatrix} c_1 & c_2 & \cdots & c_n \end{bmatrix}^T$$

is determined from the partial fraction expansion

$$\frac{1}{(s-\mu_1)\cdots(s-\mu_n)} = \frac{c_1}{s-\mu_1} + \frac{c_2}{s-\mu_2} + \dots + \frac{c_n}{s-\mu_n}$$

Remark. (a) Here the symbol '.*' denotes array multiplication as defined by

$$\left[\begin{array}{c} u_1\\ \vdots\\ u_n \end{array}\right] \cdot * \left[\begin{array}{c} v_1\\ \vdots\\ v_n \end{array}\right] := \left[\begin{array}{c} u_1v_1\\ \vdots\\ u_nv_n \end{array}\right].$$

(b) Let

$$\psi_{n+1}(s) := (s - \mu_1) \cdots (s - \mu_n).$$

Then

$$c_i = \frac{1}{\psi'_{n+1}(\mu_i)} = \left(\prod_{k=1, \ k \neq i}^n (\mu_i - \mu_k)\right)^{-1}.$$

Corollary 1 The upper triangular matrix $\mathbf{H} = [h_{ij}]_{n \times n}$ is given by

$$h_{ij} = \begin{cases} \frac{1}{\psi'_{j+1}(\mu_i)} & \text{if } i \le j, \\ 0 & \text{if } i > j. \end{cases}$$

3 Example

Let us consider the 4×4 Vandermonde matrix

$$\mathbf{V}(1,-2,\ 3,-1) = \begin{bmatrix} 1 & 1 & 1 & 1 \\ 1 & -2 & 3 & -1 \\ 1 & 4 & 9 & 1 \\ 1 & -8 & 27 & -1 \end{bmatrix}$$

which has inverse

$$\mathbf{V}^{-1}(1,-2,\ 3,-1) = \begin{bmatrix} \frac{1}{2} & \frac{7}{12} & 0 & -\frac{1}{12} \\ -\frac{1}{5} & \frac{1}{15} & \frac{1}{5} & -\frac{1}{15} \\ -\frac{1}{20} & -\frac{1}{40} & \frac{1}{20} & \frac{1}{40} \\ \frac{3}{4} & -\frac{5}{8} & -\frac{1}{4} & \frac{1}{8} \end{bmatrix}.$$

In this case the polynomials ψ_1, \ldots, ψ_4 are easily computed recursively to be

$$\begin{aligned} \psi_1(s) &= 1\\ \psi_2(s) &= (s-1)\,\psi_1(s) = -1 + s\\ \psi_3(s) &= (s+2)\,\psi_2(s) = -2 + s + s^2\\ \psi_4(s) &= (s-3)\,\psi_3(s) = 6 - 5s - 2s^2 + s^3 \end{aligned}$$

so that

$$\mathbf{L} = \begin{bmatrix} 1 & 0 & 0 & 0 \\ -1 & 1 & 0 & 0 \\ -2 & 1 & 1 & 0 \\ 6 & -5 & -2 & 1 \end{bmatrix}$$

To determine the upper triangular matrix ${\bf H}$ in the triangular decomposition

$$\mathbf{V}^{-1}(1, -2, 3, -1) = \mathbf{HL},$$

we proceed first by constructing the vector

$$\mathbf{d}(s) = \begin{bmatrix} 1-s & -2-s & 3-s & -1-s \end{bmatrix}^T$$

and expanding

$$\frac{1}{(s-1)(s+2)(s-3)(s+1)} = \frac{-\frac{1}{12}}{s-1} + \frac{-\frac{1}{15}}{s+2} + \frac{\frac{1}{40}}{s-3} + \frac{\frac{1}{8}}{s+1}$$

to get the initial column vector

$$\mathbf{h}_4 = \begin{bmatrix} -\frac{1}{12} & -\frac{1}{15} & \frac{1}{40} & \frac{1}{8} \end{bmatrix}^T$$

Then according to the recursive scheme given in Theorem 1, we have

$$\mathbf{h}_{3} = \mathbf{h}_{4} \cdot \ast \mathbf{d}(-1) = \begin{bmatrix} -\frac{1}{12} & -\frac{1}{15} & \frac{1}{40} & \frac{1}{8} \end{bmatrix}^{T} \cdot \ast \begin{bmatrix} 2 & -1 & 4 & 0 \end{bmatrix}^{T} = \begin{bmatrix} -\frac{1}{6} & \frac{1}{15} & \frac{1}{10} & 0 \end{bmatrix}^{T}$$

$$\mathbf{h}_{2} = \mathbf{h}_{3} \cdot \ast \mathbf{d}(3) = \begin{bmatrix} -\frac{1}{6} & \frac{1}{15} & \frac{1}{10} & 0 \end{bmatrix}^{T} \cdot \ast \begin{bmatrix} -2 & -5 & 0 & -4 \end{bmatrix}^{T} = \begin{bmatrix} \frac{1}{3} & -\frac{1}{3} & 0 & 0 \end{bmatrix}^{T}$$

$$\mathbf{h}_{1} = \mathbf{h}_{2} \cdot \ast \mathbf{d}(-2)$$

$$= \begin{bmatrix} \frac{1}{3} & -\frac{1}{3} & 0 & 0 \end{bmatrix}^{T} \cdot \ast \begin{bmatrix} 3 & 0 & 5 & 1 \end{bmatrix}^{T}$$

$$= \begin{bmatrix} 1 & 0 & 0 & 0 \end{bmatrix}^{T}$$

Hence

$$\mathbf{H} = \begin{bmatrix} \mathbf{h}_1 & \mathbf{h}_2 & \mathbf{h}_3 & \mathbf{h}_4 \end{bmatrix} = \begin{bmatrix} 1 & \frac{1}{3} & -\frac{1}{6} & -\frac{1}{12} \\ 0 & -\frac{1}{3} & \frac{1}{15} & -\frac{1}{15} \\ 0 & 0 & \frac{1}{10} & \frac{1}{40} \\ 0 & 0 & 0 & \frac{1}{8} \end{bmatrix}.$$

It is easy to check that

$$\mathbf{HL} = \mathbf{V}^{-1}(1, -2, 3, -1),$$

that is

4 Acknowledgment

This work was supported by the Research Committee of The Hong Kong Polytechnic University.

5 Appendix

The element l_{ij} of the $n \times n$ lower triangular matrix $\mathbf{L} = [l_{ij}]$ may be recursively computed by the Matlab routine: $\mu = [\mu_1, \dots, \mu_n];$ $n = \text{length}(\mu);$ $\mathbf{L} = \text{eye}(n);$ for i = 1 : n - 1 $\mathbf{L}(i + 1, 1) = -\mu(i) * \mathbf{L}(i, 1);$

 $\mathbf{L}(i+1,1) = -\mu(i) * \mathbf{L}(i,1);$ for j = 2:i $\mathbf{L}(i+1,j) = \mathbf{L}(i,j-1) - \mu(i) * \mathbf{L}(i,j);$ end end disp(**L**)

References

- [1] Pozrikidis, C., Numerical Computation in Science and Engineering, Oxford University Press, 1998.
- [2] Garg, H.K., Digital Signal Processing Algorithms, CRC Press, 1998.
- [3] Kailath, T., Linear Systems, Prentice Hall, 1980.
- [4] Graybill, F.A., Matrices with Applications to Statistics, Second Edition, Wadsworth, 1983.
- [5] Klinger, A., "The Vandermonde Matrix," Amer. Math. Monthly, V74, pp. 571-574, 1967.
- [6] Traub, J.F., "Associated Polynomials and Uniform Methods for the Solution of Linear Problems," SIAM Review, V8, pp. 277-301, 1966.

- [7] Hou, S.H. and Pang, W.K., "Inversion of Confluent Vandermonde Matrices," *Computers and Mathematics with Application*, V43, pp. 1539-1547, 2002.
- [8] Hou, S.H. and Hou, E., "The Triangular Decomposition of the Inverse of Confluent Vandermonde Matrices".